M J Trailers LLC.

41589 1wy 30

Willow Istand, NE 69171-3200
308-784-5550
308-784-5527

Phone #
Fax #

e

Bill To

Aaron Simmons

Invoice

[ Date I Invoice # J
( 9/8/2022 [ 14312 {

[ P.0. No. [ Terms l UNIT / VIN# J
f r 3D7KU28C44GI 9730d
Qty \ ltem Description f Amount
New Installation Remove the box, bumper and hitch's off of a 2004 Dodge Ram 23500 750.00T
Pickup. Tnstatl a CM RD Truckbed on it.
1{RD2 84/84/42 CM RD Truckbed. 84"x84"x42" ID# MB00349897 3,705.00T
le [ SBCB Blue Crimp Stvle Heat Shrink Connector. 5021
1{SBCY Yellow Crimp Style Heat Shrink Connector. 0.45T
0.5]4x3x 316 4" x 3" x 346" Rec. Tube. 15.18T
135 546™3" 5/16"x3" Flat 12.74T
(3.5 3/8" X 3" 3/8" X 3" 5.671
125114 X 6" 1/4" X 6" Flat 18.90T
] 110120415 5/8-11x1-1/2 HCS 3.00T
61133016 5/8 flat washer 2.64T
411133630 '5/8 lock washer 0.68T
41136314 5/8 nut 1.36T
3[#12 Hose Clamps 2.40T
3f#24 Hose Clamp 1.44T
0.5/ 1030 t-1/2" Filler Neek Hose. 7.80T
8{ F4ga. Red  ¥4ga. Red wire d 2.08T
3427x2"x1/8" 2"x2”x1/8" Angic 9.78T
2118"X8" 11/8" X 8" I'lal 20.14T
v 2{321224R DuraGuard 12 x 24 Mud Flap 24.00T
1]360 14-18ga Blue quick splice connectors 0.12T
3 | Resistors-LED Turn L. | Resistors for LED Turn signal lights 18.00T
10110120344 3/8-16x1 HCS 1.60T
1141133008 3/8 flat washer 1.10T
41133622 3/8 lock washer 0.36T
104 1136306 4 3/8 nut 1.10T
61 -93263 F3/8"x1-1/2" Fender Washer 1.02T
41133000 5/10 flat washer 0.2471
New [nstallation Remove the headache rack gussets and touch up the paint. Instatl a 100.00T
Happi Jac Tool box behind the headache rack.
Thank you for your busincss.
YR Subtotal
Sales Tax (5.5%)
Total

Page 1



Invoice

Terms Date Invoice #
%3%'% Due on receipt  5/30/2024 6671
JOB_ UNIT ENGINE MILES
2004 Dodge 2500 VIN 4G197303 283005
item Description QTY Rate Amount
CUSTOMER CO... | A/C INOP. P/S LEAK 0.00 0.00T
LABOR P/S PUMP R&R 2.10 135.00 283.50
LABOR FLUSH P/S SYSTEM 1.00 135.00 135.00
LABOR SCHRADER VALVE R&R 0.00 135.00 0.00
ACSERVICE EVACUATE & RE-CIIARGE A/C SYSTEM 1.00 229.99 229,997
-INCLUDES LEAK CHECK. VISUAL INSPECTION
OF SYSTEM. AND ROAD TEST
JINCLUDES 1 1.B REFRIGERANT. 1 OZ OIL
**¥FOUND LOW SIDE SCHRADER VALVE
LEAKING. EVACUATED SYSTEM, REPLACED
VALVE AND RECHARGED
134 RI34A-LB 0.75 28.99 21.74T
PAG PAG OIL-OZ 2.00 3.00 6.00T
841559R POWER STEERING PUMP-NEW 1.00 346.17 346.17T
300149 P/S PULLEY 1.00 70.54 70.54T
810609F P/S FILTER 1.00 53.88 53.88T
9832 P/S FLUID-QT. 3.00 9.08 27.24T
73305 5/8 POWER STEERING HOSE 2.00 12.58 25.16T
75200 DEX/MERC 6.00 6.00 36.00T
SHOP SUPPLIES | SHOP SUPPLIES 1.00 11.00 11.00
_HEAT SHRINK, SOLDER. ELECTRICAL
CONNECTORS, ZIP TIES, CLAMPS, NUTS, BOLTS,
GREASE, BRAKE CLEAN, SOLVENT, ETC.
Returned checks are subject to a $35.00 fee. Subtotal $1.246.22
All work is warranted for 6-months or 6,000 miles, whichever comes first. Part(s) warranties Sales Tax (7_0%) $57.17
are determined by manufacturer. Total $I,303.39 :

CHECK NO.

Payments/Credits

-$1.303.39 |

1117

Balance Due

50.00 |




Invoice

/ Terms Date Invoice #

p “% Due on receipt 1/3/2024 6549

JOB UNIT ENGINE MILES
2004 Dodge 2500 VIN 4G 197303 279293
Item Description QTY Rate Amount
CUSTOMER CO... |EXHAUST NOISE 0.00 0.00T
LABOR EXHAUST SYSTEM R&R 3.00 115.00 345.00
LABOR REAR U-JOINT R&R 1.20 115.00 138.00
14026 4" W/ MUFFLER. 04.5-07 DODGE 5.9 1.00 675.00 675.00T
FREIGHT SHIPPING 1.00 10.00 10.00T
53206X U-JOINT 1.00 144.96 144.96T
SHOP SUPPLIES | SHOP SUPPLIEFS 1.00 11.00 11.00
"HEAT SHRINK. SOLDER. ELECTRICAL
CONNECTORS, ZIP TIES. CLAMPS, NUTS, BOLTS.
GREASE. BRAKE CLEAN. SOLVENT. ETC.
Returned checks are subject to a $35.00 fec. Subtotal $1.323.96
All work is warranted for 6-months or 6.000 miles, whichever comes [irst. Part(s) warrantics Sales Tax (7_00/0) $58.10
det ined by manufacturer.
are determi Y Total $1,382.06
CHECK NO. Payments/Credits -$1,382.06
1236
Balance Due $0.00




Invoice

Terms Date Invoice #
%’% Due on receipt  10/10/2023 6475
@ B
os
AQH
JOB UNIT ENGINE MILES
2004 Dodge 2500 VIN 4G197303 5.9 277346
ltem W Description QTY Rate Amount
SHOP SUPPLIES | SHOP SUPPLIES 1.00 11.00 11.00
-HEAT SHRINK. SOLDER. ELECTRICAL
CONNECTORS. ZIP TIES. CLAMPS, NUTS, BOLTS,
GREASE, BRAKE CLEAN. SOLVENT, ETC.
Returned checks are subject to a $35.00 fee. Subtotal $3.871.89
All work is warranted for 6-months or 6,000 miles. whichever comes first. Part(s) warrantics Sales Tax (7 OOA)) $162.50
are determined by manufacturer. Total e — $4,03 ;!39 :
CHECK NO. Payments/Credits -$4.034.39
1202
Balance Due 30. 007

Page 3




Invoice

Terms Date Invoice #
% Due on receipt 10/10/2023 6475
i%%‘ja\qh
JOB UNIT ENGINE MILES
2004 Dodge 2500 VIN 4G197303 59 277346
ltem Description QTY Rate Amount
AFTER REPLACING VALVE, RETESTED FOR RAIL
LEAKAGE, NONE FOUND. ATTEMPTED TO START,
ENGINE STARTED WITH NO 1SSUES.
LABOR HEATER CORE. A/C ACCUMULATOR R&R 6.00 115.00 690.00
ACSERVICE EVACUATE & RE-CHARGE A/C SYSTEM 1.00 229.99 229.99T
-INCLUDES LEAK CHECK. VISUAL INSPECTION
OF SYSTEM. AND ROAD TEST
-INCLUDES 1 LB REFRIGERANT. | QZ OIL
LABOR BLEND DOOR R&R (ALL) 1.50 115.00 172.50
LABOR LIFT PUMP R&R 1.50 115.00 172.50
LABOR INJECTION PUMP R&R 3.00 113.00 345.00
LABOR FPRV R&R 0.30 115.00 34.50
551089 HEATER CORE 1.00 97.06 97.06T
234029 EVAPORATOR 1.00 103.79 103.79T
6005612 BLEND DOOR 1.00 33.30 33.30T
DA1384 BLEND DOOR 1.00 83.10 83.10T
DA1382 BLEND DOOR 1.00 128.05 128.05T
DA1381 BLEND DOOR 1.00 140.75 140.75T
DA1377 BLEND DOOR 1.00 32.35 32.35T
BO105E FUEL PUMP 1.00 286.21 286.21T
0986437304 BOSCH CP3 PUMP 1.00 1.029.00 1,029.00T
1110010029 FUEL PRESSURE RELIEF VALVIL 1.00 157.79 157.79T
Subtotal
Sales Tax (7.0%)
Total ' ;
CHECK NO. Payments/Credits
1202
Balance Due

Page 2




g

JOB UNIT
2004 Dodge 2500 VIN 4G197303

Du

Invoice

Terms Date

e on receipt 10/10/2023

ENGINE

8.9

Invoice #

6475

MILES

277346

Item
CUSTOMER CO...

DIAGNOSTICS

Description
HARD START. HEATER CORE LEAK

CONNECTED SCANNER. NO CODLES FOUND.
MONITORED HIGH PRESSURE FUEL SYSTEM
DURING CRANKING. FOUND PRESSURE
BUILDING SLOWLY. INSTALLED FUEL PRESSURE
GAUGE AT INJECTION PUMP, FOUND LIFT PUMP
PRODUCING 2 PSI. INSTALLED CLEAR HOSE TO
CHECK FOR AIR IN FUEL. NONE FOUND.
RECOMMEND REPLACING LIFT PUMP AND
RETESTING.

AFTER REPLACING LIFT PUMP. RECHECKED LIFT
PUMP PRESSURE. PUMP IS PRODUCING 10 PSI.
BUT PRESSURE STILL BUILDS SLOWLY.
DISCONNECTED FUEL CONTROL ACTUATOR
AND CRANKED ENGINE. ENGINE STARTED WITH
NO ISSUE. RECOMMEND REPLACING INJECTION
PUMP.

AFTER REPLACING INJECTION PUMP. ENGINE
STARTED WITH NO ISSUES.

ATTEMPTED TO START AFTER COMPLETE COLD
SOAK, ENGINE WOULD NOT START. MONITORLED
HIGH PRESSURE FUEL SYSTEM, FOUND IIGH
PRESSURE FUEL ONLY REACHING 1600 PSL
INSTALLED TEST FITTING ON FULEL PRESSURE
RELIEF VALVE TO CHECK FOR RAIL LEAKAGL:,
FOUND VALVE LEAKING EXCESSIVELY.
RECOMMEND REPLACING FPRV,

QTY

Rate
0.00

1.00 125.00

Amount
0.00T

125.00

CHECK NO.

Subtotal

Sales Tax (7.0%)

Total

Payments/Credits

1202

Page 1

Balance Due




Invoice

Terms Date Invoice #
; 1%’% Due on receipt 1/3/2024 6549
~——
.
\‘\
\'ﬁa
JOB UNIT ENGINE MILES
2004 Dodge 2500 VIN 4G197303 279293
Iltem Description QTY Rate Amount
CUSTOMER CO... |EXHAUST NOISE 0.00 0.00T
LABOR EXHAUST SYSTEM R&R 3.00 115.00 345.00
LABOR REAR U-JOINT R&R 1.20 115.00 138.00
14026 4" W/ MUFFLER. 04.5-07 DODGE 5.9 1.00 675.00 675.00T
FREIGHT SHIPPING 1.00 10.00 10.00T
53206X U-JOINT 1.00 144.96 144.96T
SHOP SUPPLIES | SHOP SUPPLIES 1.00 11.00 11.00
-HEAT SHRINK. SOLDER. ELECTRICAL
CONNECTORS. ZIP TIES, CLAMPS, NUTS, BOLTS,
GREASE. BRAKE CLEAN, SOLVENT, ETC.
Returned checks are subject to a $35.00 fee. Subtotal $1.323.96
All work is warranted for 6-months or 6,000 miles, whichever comes [irst. Parl(s) warrantics Sales Tax (7_01%) $58.10
determined by facturer.
are determined by manutacturer, Total $1,382n06
CHECK NO. Payments/Credits -$1,382.06
1236
Balance Due 30.00




